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Section : Mental Ability

Ans " 1 PRT

o 2 suv
25 3.JLN
25 4. TVX

Q.1 Choose the odd one from the given alternatives.

Question ID : 54592778177

A

g

Ans

X
-0

W2

-0

X
-0

i) R ]

Q.2 Which of the following figure is exactly the mirror image of the question figure, when
the mirror is held at AB?

Question ID : 54592778193

Q.3 Find out the next term.

https://cdn.digialm.com//per/g01/pub/1258/touchstone/AssessmentQPHTMLMode1//1258019392/1258019392S14D990/15730204207932039/...

1/45



11/11/2019 https://cdn.digialm.com//per/gO1/M%mhm%[;xs@g%h!@gﬁj\ham //1258019392/1258019392514D990/15730204...

JL22,0Q32, TV42, ?
Ans X' 1. vZ51

/< 2.YB28
W 3. Y52
75 4.Y252

Question ID : 54592778175

Q.4 Find the missing number from the given responses in the following question.

g
5
7

11

Ans x1_6
K 2.7
W33
K44

| e | D

[ I = e
-

Question ID : 54592778187

Q.5 In the question below a statement followed by two courses of action numbered | and Il
is given. On the basis of the information given in the statement, you have to assume
everything in the statement to be true, then decide which of the suggested courses of
action logically follow(s) first pursuing.

Statement:

A huge fire broke out due to damage done to the gas pipeline While laying pipes for
one of the utility companies.

Courses of action:

I. All the licenses of the utility companies should immediately be suspended pending
enquiry into the incidence.

1l. People residing in the area should be advised to stay indoors to avoid burn injuries.

Ans X" 1. If neither Course of Action (1) nor () follows
75 2. If either Course of Action (1) or (II) follows
( 3. If only Course of Action (1) follows

x 4. If only Course of Action (II) follows

Question ID : 54592778185

Q.6 Select the related letter group from the given alternatives.

YQ:VN:KN:?

Ans B 1 HL
W 2. HK
< 3. HY
75 4.G6K

Question ID : 54592778180

Q.7 Which of the following interchanges of numbers would make the given equation
correct?

8x20+3+9-5=38

Ans «'1_315
5289
253309
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5438

Question ID : 54592778186

Q.8 Which figure does not belong to the group in the following question?

Ans
< Q)

A
v: O\
x4 m

w

X
O
+

o

o

Question ID : 54592778191

Q.9 In a certain code PROGRESS is written as ‘3’ and DEVELOPMENT is written as ‘16°.
How is MANAGEMENT written in that code?

Ans «1_7
K26
K039
F N

Question ID : 54592778181

Q.10 A lady plans to visit five Stores to buy her stuff. The shops are Reebok, Puma,
Addidas, HRX and Nike which she visits exactly once. She decided:

(i) She must visit Reebok before Puma and Nike.
(ii) She must visit Puma before HRX.
(iii) The third shop she visited must be Addidas which is just after Puma.

Which is the Fourth store she visited?
Ans " 1 Nike

x 2. Puma

o 3. HRX or Nike

5 4. HRX

Question ID : 54592778182

Q.11 In this question given below which of the four option figures should come after the
question figures, if the sequence were continued?

N
I -

Ans
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~< j

W2 r,

Question ID : 54592778189

Q.12 Seven friends, P,Q, R, S T and U are sitting in a straight line facing north. Q sits fifth to
the right of T. Q does not sit at any of extreme ends. Two people sit between U and R. S
sits third to the left of V. S sits exactly in the middle. U is not an immediate neighbour
of P.

How many people sit between R and V?
Ans " 1 One

75 2. Three
( 3. Four
x 4. Two

Question ID : 54592778183

Q.13 According to the following venn diagram how many people’s hobby is dancing and
reading and travelling but not playing cricket?

’ 4 \—Dancing

Travelling Playing Cricket

Ans x1_9
252,11
o 3.10
K412

Question ID : 54592778188

Q.14 Which of the following answer figure will complete the given figure?
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“J

Ans

Question ID : 54592778192

Q.15 Select a suitable figure from the four alternatives that would complete the figure

matrix.
N4
LN ¥
R==a
2

VAR P,
—— | £

Ans

< 3
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Question ID : 54592778190

Q.16 In question below is given a statement followed by two assumptions numbered I, I
and lll. An assumption is something supposed or taken for granted. You have to
consider the statement and the following assumptions and decide which of the
assumptions is implicit in the statement.

Statement:
“Wanted a three bedroom flat in the court area for immediate possession”- an
advertisement

Assumptions:

I. Flats are available in court area.

Il. Some people will respond to the advertisement.
1ll. It is a practice to give such an advertisement.

Ans x 1. None is implicit
#% 2. 0nly I and Il are implicit
o 3. Only Il is implicit

25 4. All are implicit

Question ID : 54592778184

Q.17 Select the term that will come next in the following series.

FZ,1B,OF, XL, ?

Ans x 11T
o 2T
530U
y NS

Question ID : 54592778176

Q.18 Four pair of words are given and three of them share a certain similarity. Choose the
pair which is different from the other three.

Ans X 1. Right Livelihood Award : Environment
x 2. Sahitya Akademy Awards : Writing
« 3. Vyas Samman : English Literature

x 4. R.D. Birla Award : Medical sciences

Question ID : 54592778178

Q.19 Which of the following is the water image of the question figure?

NVLAFIWOP

" v NAPHETMOD

<~ MAdLEI'MODb
<~ UATBEI'MODb
<~ NATHEI'MODb

Question ID : 54592778194

Q.20 Select the related word from the given alternatives.
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Godavari : Nasik :: Rapti :?
Ans X" 1 Varanasi

x 2. Kanpur

X 3. Lucknow

( 4. Gorakhpur

Question ID : 54592778179

Section : General Awareness

Q.1 Which of the following physical quantity is responsible for opening the lid of a bottle?
Ans & 1 Velocity

x 2. Acceleration

( 3. Torque

x 4. Pressure

[ Question ID : 54592778200 ]

Q.2 Which of the following is traditional folk theatre form of Maharashtra?
Ans X 1 Jatra

( 2. Tamaasha
#5 3. Krishnattam

X 4. Yakshagaana

Question ID : 54592778195

Q.3 Who originally built the Meenakshi Temple at Madurai?
Ans X" 1. Pulakeshin |

#5 2. Karikala Chola
J 3. Kulashekarar Pandyan

X 4. Mahendravarman |

Question ID : 54592778196

Q.4 With which of the following sport sheesh mahal tournament is associated?
Ans X 1. Boat racing

X 2. Badminton
#5 3. Football

o 4. Cricket

Question ID : 54592778214

Q.5 In which of the following field, ‘Fields medal’ is given?
Ans " 1. Physics

J 2. Mathematics
X 3. Architecture

x 4. Peace mission

Question ID : 54592778208
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Q.6 Srikanth Kidambi is associated with which of the following fields?
Ans X' 1 Dance

x 2. Science
X 3. Music
J 4. Sports

Question ID : 54592778207

Q.7 Which article of Indian Constitution defines the money bill?
Ans X" 1. Article 114

5 2. Article 112
#5 3. Article 116

W 4. Article 110

Question ID : 54592778212

Q.8 Who among the following is not a citizen of India according to Indian Constitution?

Ans J 1. A person who has voluntarily acquired the citizenship of any foreign State
x 2. A person either of whose parents was born in the territory of India

X 3. A person who has been ordinarily resident in the territory of India for not less than
five years immediately preceding such commencement

x 4. A person who was born in the territory of India

Question ID : 54592778211

Q.9 Alvars were devotees of which Indian deity?
Ans X" 1. Shakti

#5 2. shiva
o 3. Vishnu
x 4. Brahma

Question ID : 54592778206

Q.10 Which of the following dam is not constructed on Chambal River?

Ans J 1. Indira Sagar Dam
x 2. Gandhi Sagar Dam
X 3. Jawahar Sagar Dam

X 4. Rana Pratap Sagar Dam

Question ID : 54592778202

Q.11 What is the national sport of China?
Ans X" 1 Cricket

( 2. Table tennis
X 3. Swimming

x 4. Hockey

Question ID : 54592778213

Q.12 In acidic solution China rose indicator turns which of the following color?
Ans " 1 Orange
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x 2. Green

o 3. Magenta (Dark Pink)

x 4. Colorless

Question ID : 54592778199

Q.13 Under which dynasty Delhi became the capital of a Kingdom for the first time?
Ans X" 1. Tughlug Dynasty

x 2. Chauhans
#% 3. Khalji Dynasty

( 4. Tomara Rajput

Question ID : 54592778205

Q.14 What kind of virus causes cancer?
Ans J 1. Oncogenic virus

X 2. Variola virus
X 3. Rubella virus

£5 4. Rhino virus

Question ID : 54592778201

Q.15 Who among the following is associatted with widow remarriage?

Ans ( 1. Ishwarchandra Vidyasagar
X 2. Jyotirao Phule
x 3. E.V. Ramaswamy Naicker

X 4. Shri Narayana Guru

Question ID : 54592778204

Q.16 are known as excludable goods.
Ans " 1. Merit Goods

x 2. Demerit Goods
W 3. Public Goods

x 4. Private Goods

Question ID : 54592778198

Q.17 Who is the author of the book ‘The Coalition Years ’?
Ans X" 1. Shashi Tharoor

/5 2. Satya Nadella
J 3. Pranab Mukharjee

X 4. Raghuram G Rajan

Question ID : 54592778209

Q.18 Jawadi hills are part of which of the following?
Ans  of 1 Eastern Ghat

x 2. Arunachal Himalayas

X 3. Northwestern Himalayas

X 4. Western Ghat
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Question ID : 54592778203

Q.19 Who is the present governor of Maharashtra?

Ans X" 1. Anandiben Patel
J 2. C. Vidyasagar Rao
#< 3. Lalji Tandon

75 4. Mridula Sinha

Question ID : 54592778210

Q.20 is defined as the market price of the good (p) multiplied by the firm’s
output (q)

Ans X 1. Average revenue
J 2. Total revenue
X 3. Price Line

x 4. Marginal revenue

Question ID : 54592778197

Section : Arithmetic Ability

Q.1 The respective ratio of the marks of three students A, B and Cis 3 : 4 : 6. If average
marks of A and B is 77. Find the marks of C.

Ans  of 1 132
52,125
/5 3.88
54102

Question ID : 54592778220

Q.2 A man’s age is 125% of what it was 10 vears ago, but 83%% of what it will be after 10 vears.

His present age is:

Ans X" 149 Years
x 2. 51 Years

X 3. 48 Years

J 4. 50 Years

Question ID : 54592778222

Q.3 In what ratio should water be mixed with wine, that costs Rs. 60 per litre, so that the
price of the resultant mixture is Rs.40 per litre?

Ans ' 1.2:3
K 2.3:4
o 312
K445

Question ID : 54592778225

Q.4 A train covers a certain distance in 50 minutes, if it runs at a speed of 48 km/hr on an
average. The speed at which the train must run so that time of journey becomes 40
minutes?

Ans
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< 1.10 km/hr
52,40 km/hr
o 3.60 km/hr
5 4.20 km/hr

Question ID : 54592778228

Q.5 The ratio of the speeds of a boat in still water and the speed of the riveris 3 : 1. The
boat takes 45 minutes for a round trip journey. Find the distance of the whole trip if the
speed of the stream is 4 km/hr.

Ans & 1 4km

5 2.16 km
W 3.8km
25 4.12km

Question ID : 54592778227

Q.6 Given below is a bar graph showing the details of cars manufactured and sold by
company “ABC Limited” for the period of 2010 to 2014. Study the graph carefully and
answer the question.

2014

2013

2012

2011

2010

B coid " pManfactured

No of cers sold

(sale %= % 100)

No of cars manufectured

In which year sale percentage was least?

Ans X" 12014
W 2.2012
75 3.2011
75 4.2010

Question ID : 54592778233

Q.7 Study the following bar graph carefully to answer the given question. The graph
shows the monthly income and expenditure of three persons A, B and C.
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__.--..___Q_fi‘.“‘._
—5400 =~ 5600

Income Expendeture

Note: Savings = Income — Expenditure

The difference between the savings of A and C is what percentage less than that of
savings of B?

A
"X 1.162%

v 222 g%

x 3. 332%

X 4 25%

Question ID : 54592778234

Q.8 Simplify the following expression.

12624 + 15285 - 16234 + 90724 + 13381 = ?
Ans X 1. 116784

75 2.112564
W 3. 115780
75 4.116850

Question ID : 54592778216

a9 Ifi =§, then the value of 5a° — 2a’b : 3ab? —biis :

Ans & 1.32:29
W 21627
/5 3.27:16
5 4.34:19

Question ID : 54592778224

Q.10 Which of the following Fractions is the smallest?

13 14 15 16

14'15"716"17

Ans 16

F 8

17

15

?(2. 16
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X1

15

vl

14

Question ID : 54592778215

Q.11 If 40 percent of a number is 75 more than 20 percent of 1500, the value of the number
is

Ans X" 19125

W 29375
75 3.9525
5 4.9625

Question ID : 54592778221

Q.12 Monthly expenditures (in Rs.) of an average household on rent, food, clothing and
other miscellaneous items are 1000, 1500, 350 and 750 respectively. If this information
is presented with the help of a pie chart, then the angle for clothing is:

Ans  of 1 35°
75 2.60°
/5 3.15°
/5 4.45°

Question ID : 54592778219

Q.13 15 men or 18 women can complete a piece of work in 45 days. If 5 men and 6 women
work together then the work will be completed in:

F 8 53; days
75 2.75 days
#5 3.48 days

4 67% days
o

Ans

Question ID : 54592778230

Q.14 Following pie chart shows the modes of transport for 1000 students of a regional
college of engineering in Delhi.

Train, 367

Two wheeler
1059

Bus, 75°

Car, 144#

The number of students who come college by car is what percent of the number of
students who come by train:

Ans X" 1.150 percent
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x 2. 25 percent
x 3. 200 percent

J 4. 400 percent

Question ID : 54592778232

Q.15 What is the greatest number that will divide 580 and 679 and leave remainders 4 and 7
respectively.

Ans x1.15
K28
X 3.32
W 4.9

Question ID : 54592778217

Q.16 In how many years will a sum of Rs.1875 amount to Rs.2187 at 8 percent p.a.
compound interest?

Ans J1_2
K 2.4
5033
<4

Question ID : 54592778226

Q.17 1 1
A talkes 5§days and B takes 8 g days more than the time taken by A and B together to complete a work. In
how many days will they finish the work together?

Ans 1

1.:3=
x 3
2

2.9Z
x 3
2

3. 6—
" o

2
4. 8=
X 3

Question ID : 54592778229

Q.18 Rakesh bought some chocolates at 10 for Rs.1.50 and an equal number at 20 paise
each. He sold them at a rate of 20 for Rs. 4 and made a profit of Rs. 10. How many
chocolates did he purchase?

Ans X 1.100
W 2. 400
/< 3.300
< 4.200

Question ID : 54592778223

Q.19 Nitesh purchased a new Mobile for 30 percent discount. Had Nitesh got no discount,
Nitesh would have had to pay Rs. 3000 more. How much did Nitesh pay for the Mobile?

Ans  of 1 Rs.7000
#% 2.Rs.8500
/% 3.Rs.8000

75 4.Rs.7500
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Question ID : 54592778218

Q.20 Find the volume of a right circular cone formed by joining the edges of a sector of a
circle of radius 4cm where the angle of the sector is 90°.

Ans
F 8 ﬁcm;a

T
v 2 T[chm3
p g3 1243

w

X 4 2\2n a3
3

cimd

Question ID : 54592778231

Section : General English

Q.1 Find out which part of the sentence has an error. If there is no error, mark your answer
as ‘No error’.

The table’s wood (a) / is infested with mite and | (b) / am likely to dispose it of.(c) / No
error(d).

Ans ( 1. The table’s wood

x 2. No error

x 3. is infested with mite and |

x 4. am likely to dispose it of.

Question ID : 54592778236

Q.2 Select the word which means the same as the group of words given.

Government by few or a small group of people.
Ans  of 1 Oligarchy

x 2. Bureaucracy
x 3. Ochlocracy
x 4. Aristocracy

Question ID : 54592778249

Q.3 Select the most appropriate option to substitute the underlined segment in the given
sentence. If there is no need to substitute it, select option No substitution required.

We had been almost halfway there when the left rear tyre blew out.

Ans x 1. have been almost
x 2. were going to be almost
x 3. No substitution required

«. 4. were almost

Question ID : 54592778237

Q.4 In the following question, there are six parts marked S1, S6, P, Q, R and S. The position
of S1 and S6 is fixed. Some parts of the sentence have been jumbled up. Rearrange
these parts and choose the proper sequence from the given options.

S1. Two partridges (quail-like birds) lived in a certain tree in the jungle. While one of
them lived on the branches, the other lived inside a hole at the foot of the tree.
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P. One day, one of them went away with some more partridges in search of food.
Q. They became good friends, and they would spend long hours with each other
telling each other stories and events of their lives.

R. In this manner, the partridges spent their time in happiness.

S. As was usual, when he did not return back even at sunset, the other partridge
started worrying.

S6. He thought, "He has not done this ever. Why has the partridge not returned home

today? Has been trapped by some hunter? Or maybe even killed? | cannot live without
him. | am certain there is some reason why he has not returned even at nightfall."”

o 1.QRrRPS
/5 2.SPRQ

/X 3.sPQR
/5 4.QRSP

Question ID : 54592778242

Q.5

Ans

Identify the incorrect sentence or sentences.

a. Tamil Nadu will be the most wired state from the perspective of e-learning.
b. At the core of Rs 20 crore project is a Knowledge Data Centre at the Anna
University.

c. The K.D.C. will house information in digital format.

d. It can be accessed by students through the state.

/X 1.0nlya
o 2.bandd
X3.aandc
75 4.0nly b

Question ID : 54592778235

Q.6

Ans

Select the most appropriate option to fill in the blank.

When light through a spectroscope it breaks into bands of unique colours.

75 1. passed
#< 2. passing
“ 3. passes
x 4. pass

Question ID : 54592778239

Q.7

Select the most appropriate option to substitute the underlined segment in the given
sentence. If there is no need to substitute it, select option No substitution required.

The man spent a lot because he had so large amount of money.

https://cdn.digialm.com//per/g01/pub/1258/touchstone/AssessmentQPHTMLMode1//1258019392/1258019392S514D990/15730204207932039...

Ans x 1. he had a large lot of money

x 2. No substitution required

« 3. he had a large amount of money

x 4. he had a large number of money

Question ID : 54592778238
Q.8 Select the synonym of the given word.
Morose

Ans

x 1. Delectable
x 2. Meagre

« 3. Gloomy

x 4. Concealed

(
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l Question ID : 54592778244 J

Q.9 Select the most appropriate option to fill in the blank.

You never know how much you rely on your friends they are beyond your
reach.

Ans & 1 still
X 2.1in case
o 3. until
75 4. unless

Question ID : 54592778240

Q.10 Select the meaning of the given idiom.

To the backbone:
Ans X 1. With flexibility

X 2. Farthest point
J 3. Thoroughly

#< 4. Physically

Question ID : 54592778248

Q.11 Select the meaning of the given idiom.
A bird’s eye view:
Ans X" 1 Lacking clarity
75 2. A quick look
J 3. A general view

X 4. Unrealistic

Question ID : 54592778247

Q.12 Select the antonym of the given word.

Proximity
Ans J 1. Remoteness

/< 2. Expedite

X 3. Pardon

X 4. Adjacent

Question ID : 54592778243

Q.13 Out of the given four words only one is not spelt correctly. Find the word that is not
correctly spelt.

Ans & 1. Judgement

X 2. Laboratory

o 3. Librality

X 4. Knowledge

Question ID : 54592778246

Q.14 In each of the questions given below, rearrange the parts of the sentence in the correct
order, and choose the correct option.

When botanists endeavoured by means of the microscope
P - to see the cells multiplying and producing actual growth
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Q - it was discovered that this phenomenon took place for the most part
R - at night during the absence of light

Ans X 1 RPQ

/5 2.QRP
/< 3.RQP
o 4. PQR

Question ID : 54592778241

Q.15 Find the correctly spelt word.
Ans x 1. Assecment

( 2. Assessment
K 3. Asessment

x 4. Asessmente

Question ID : 54592778245

Comprehension:

Read the passage carefully and choose the best answer to each question out of the four
alternatives.

The word ‘routine’ is not a very adored term. It has often been substituted for anything that is
ordinary or mundane. Routines are regular procedures and practices that are almost
performed as second nature. If you look up the net there are even sites which help to get out
of routines and make life more exciting. If you're bored with routines they can offer help.

Reality is a bit different though. In reality routines form the backbone of our lives. Traffic rules
are routine but imagine one fine day we said, dump those rules. You can imagine the chaos.
Which shoe do you wear first? The left or the right? Check next time, you’ve probably been
doing it all your life (wearing the left or right first) without the slightest thought to it. Most of us
marvel at Army marches. We are amazed how their legs and arms move in such
synchronised manner. To them, that’s routine. For us, it's a wonder. They have been trained
for it and they practice it every day. It is in that sense that Secularism is a routine. Being a
backbone of our lives, secularism needs to be maintained and practiced. Soldiers don’t fight
big battles with their marching skills. Do they? At best that routine organises them for the
battle. In much similar fashion secularism by itself does not win any battles. But many of our
fraudulent politicians have been selling this product (in a fake form). Excessive secularism,
which feeds the fire of people who like to present India as a country that does not respect its
majority, is just as dangerous as religious fundamentalism”. This is the outcome of fake
secularism practiced by all the parties.

Secularism demands that people be seen as one nation under one roof. Politicians may act
divisively but why should media morons act divisively? And when rapped for such illegitimate
behaviour all that these fools can do is cry abuse.

Secularism is a routine practice and not an issue on which any election should have ever
been contested but the sickulars and the corrupt media have brought it down to this level. |
consider myself a secular person but except for the media discussions or election season it
doesn’t cross my mind even once. People brush their teeth and have a bath every day. It
makes them feel good, clean and freshened up. But that doesn’t guarantee them luck, job or
food. Routine hygiene is a “maintenance” job for the body. Secularism is a maintenance job
for a society. It need not get any premium. No one deserves to be rewarded for being secular;
certainly not with a vote.

SubQuestion No : 16

Q.16 Out of the given options, which word can replace the word ‘Moron’ as used in the
passage?

Ans 3" 1. Puppet

x 2. Sickulars

o 3. Fool

K 4. Gloomy

Question ID : 54592778254

Comprehension:

Read the passage carefully and choose the best answer to each question out of the four
alternatives.
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The word ‘routine’ is not a very adored term. It has often been substituted for anything that is
ordinary or mundane. Routines are regular procedures and practices that are almost
performed as second nature. If you look up the net there are even sites which help to get out
of routines and make life more exciting. If you're bored with routines they can offer help.

Reality is a bit different though. In reality routines form the backbone of our lives. Traffic rules
are routine but imagine one fine day we said, dump those rules. You can imagine the chaos.
Which shoe do you wear first? The left or the right? Check next time, you’ve probably been
doing it all your life (wearing the left or right first) without the slightest thought to it. Most of us
marvel at Army marches. We are amazed how their legs and arms move in such
synchronised manner. To them, that’s routine. For us, it's a wonder. They have been trained
for it and they practice it every day. It is in that sense that Secularism is a routine. Being a
backbone of our lives, secularism needs to be maintained and practiced. Soldiers don’t fight
big battles with their marching skills. Do they? At best that routine organises them for the
battle. In much similar fashion secularism by itself does not win any battles. But many of our
fraudulent politicians have been selling this product (in a fake form). Excessive secularism,
which feeds the fire of people who like to present India as a country that does not respect its
majority, is just as dangerous as religious fundamentalism”. This is the outcome of fake
secularism practiced by all the parties.

Secularism demands that people be seen as one nation under one roof. Politicians may act
divisively but why should media morons act divisively? And when rapped for such illegitimate
behaviour all that these fools can do is cry abuse.

Secularism is a routine practice and not an issue on which any election should have ever
been contested but the sickulars and the corrupt media have brought it down to this level. |
consider myself a secular person but except for the media discussions or election season it
doesn’t cross my mind even once. People brush their teeth and have a bath every day. It
makes them feel good, clean and freshened up. But that doesn’t guarantee them luck, job or
food. Routine hygiene is a “maintenance” job for the body. Secularism is a maintenance job
for a society. It need not get any premium. No one deserves to be rewarded for being secular;
certainly not with a vote.

SubQuestion No : 17
Q.17 In what sense secularism is a routine?

Ans x 1. Secularism is simply a notion that is a lip service to the nation.
X 2. Secularism demands that people be seen as one nation under one roof.
{ 3. Secularism is a routine in a sense that it needs to be practiced and maintained.

x 4. Secularism is a maintenance job for a society.

Question ID : 54592778252

Comprehension:

Read the passage carefully and choose the best answer to each question out of the four
alternatives.

The word ‘routine’ is not a very adored term. It has often been substituted for anything that is
ordinary or mundane. Routines are regular procedures and practices that are almost
performed as second nature. If you look up the net there are even sites which help to get out
of routines and make life more exciting. If you’re bored with routines they can offer help.

Reality is a bit different though. In reality routines form the backbone of our lives. Traffic rules
are routine but imagine one fine day we said, dump those rules. You can imagine the chaos.
Which shoe do you wear first? The left or the right? Check next time, you’ve probably been
doing it all your life (wearing the left or right first) without the slightest thought to it. Most of us
marvel at Army marches. We are amazed how their legs and arms move in such
synchronised manner. To them, that’s routine. For us, it's a wonder. They have been trained
for it and they practice it every day. It is in that sense that Secularism is a routine. Being a
backbone of our lives, secularism needs to be maintained and practiced. Soldiers don’t fight
big battles with their marching skills. Do they? At best that routine organises them for the
battle. In much similar fashion secularism by itself does not win any battles. But many of our
fraudulent politicians have been selling this product (in a fake form). Excessive secularism,
which feeds the fire of people who like to present India as a country that does not respect its
majority, is just as dangerous as religious fundamentalism”. This is the outcome of fake
secularism practiced by all the parties.

Secularism demands that people be seen as one nation under one roof. Politicians may act
divisively but why should media morons act divisively? And when rapped for such illegitimate
behaviour all that these fools can do is cry abuse.

Secularism is a routine practice and not an issue on which any election should have ever
been contested but the sickulars and the corrupt media have brought it down to this level. |
consider myself a secular person but except for the media discussions or election season it
doesn’t cross my mind even once. People brush their teeth and have a bath every day. It
makes them feel good, clean and freshened up. But that doesn’t guarantee them luck, job or
food. Routine hygiene is a “maintenance” job for the body. Secularism is a maintenance job
for a society. It need not get any premium. No one deserves to be rewarded for being secular;
certainly not with a vote.
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SubQuestion No : 18
Q.18 According to the passage, what exactly is a routine?

Ans K 1. Routine is a boring term used for an act repeated over a period of time

x 2. Routine is an everyday practice that puts people at ease since it provides a sense of
consistency and repetition

J 3. They are regular procedures and practices that are performed as second nature

K 4. Routine is a safe haven for people who are averse to change

Question ID : 54592778251

Comprehension:

Read the passage carefully and choose the best answer to each question out of the four
alternatives.

The word ‘routine’ is not a very adored term. It has often been substituted for anything that is
ordinary or mundane. Routines are regular procedures and practices that are almost
performed as second nature. If you look up the net there are even sites which help to get out
of routines and make life more exciting. If you’re bored with routines they can offer help.

Reality is a bit different though. In reality routines form the backbone of our lives. Traffic rules
are routine but imagine one fine day we said, dump those rules. You can imagine the chaos.
Which shoe do you wear first? The left or the right? Check next time, you’ve probably been
doing it all your life (wearing the left or right first) without the slightest thought to it. Most of us
marvel at Army marches. We are amazed how their legs and arms move in such
synchronised manner. To them, that’s routine. For us, it's a wonder. They have been trained
for it and they practice it every day. It is in that sense that Secularism is a routine. Being a
backbone of our lives, secularism needs to be maintained and practiced. Soldiers don’t fight
big battles with their marching skills. Do they? At best that routine organises them for the
battle. In much similar fashion secularism by itself does not win any battles. But many of our
fraudulent politicians have been selling this product (in a fake form). Excessive secularism,
which feeds the fire of people who like to present India as a country that does not respect its
majority, is just as dangerous as religious fundamentalism”. This is the outcome of fake
secularism practiced by all the parties.

Secularism demands that people be seen as one nation under one roof. Politicians may act
divisively but why should media morons act divisively? And when rapped for such illegitimate
behaviour all that these fools can do is cry abuse.

Secularism is a routine practice and not an issue on which any election should have ever
been contested but the sickulars and the corrupt media have brought it down to this level. |
consider myself a secular person but except for the media discussions or election season it
doesn’t cross my mind even once. People brush their teeth and have a bath every day. It
makes them feel good, clean and freshened up. But that doesn’t guarantee them luck, job or
food. Routine hygiene is a “maintenance” job for the body. Secularism is a maintenance job
for a society. It need not get any premium. No one deserves to be rewarded for being secular;
certainly not with a vote.

SubQuestion No : 19
Q.19 All except one is true according to the passage:

Ans { 1. Secularism is not a maintenance job for the society.
K 2. Secularism is not an issue to form the basis of contesting an election.
K 3. Secularism being a backbone of our life needs to be practiced and maintained.

#% 4. Absence of routine in our life will lead to chaos.

Question ID : 54592778255

Comprehension:

Read the passage carefully and choose the best answer to each question out of the four
alternatives.

The word ‘routine’ is not a very adored term. It has often been substituted for anything that is
ordinary or mundane. Routines are regular procedures and practices that are almost
performed as second nature. If you look up the net there are even sites which help to get out
of routines and make life more exciting. If you're bored with routines they can offer help.

Reality is a bit different though. In reality routines form the backbone of our lives. Traffic rules
are routine but imagine one fine day we said, dump those rules. You can imagine the chaos.
Which shoe do you wear first? The left or the right? Check next time, you’ve probably been
doing it all your life (wearing the left or right first) without the slightest thought to it. Most of us
marvel at Army marches. We are amazed how their legs and arms move in such
synchronised manner. To them, that’s routine. For us, it's a wonder. They have been trained
for it and they practice it every day. It is in that sense that Secularism is a routine. Being a
backbone of our lives, secularism needs to be maintained and practiced. Soldiers don’t fight
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big battles with their marching skills. Do they? At best that routine organises them for the
battle. In much similar fashion secularism by itself does not win any battles. But many of our
fraudulent politicians have been selling this product (in a fake form). Excessive secularism,
which feeds the fire of people who like to present India as a country that does not respect its
majority, is just as dangerous as religious fundamentalism”. This is the outcome of fake
secularism practiced by all the parties.

Secularism demands that people be seen as one nation under one roof. Politicians may act
divisively but why should media morons act divisively? And when rapped for such illegitimate
behaviour all that these fools can do is cry abuse.

Secularism is a routine practice and not an issue on which any election should have ever
been contested but the sickulars and the corrupt media have brought it down to this level. |
consider myself a secular person but except for the media discussions or election season it
doesn’t cross my mind even once. People brush their teeth and have a bath every day. It
makes them feel good, clean and freshened up. But that doesn’t guarantee them luck, job or
food. Routine hygiene is a “maintenance” job for the body. Secularism is a maintenance job
for a society. It need not get any premium. No one deserves to be rewarded for being secular;
certainly not with a vote.

SubQuestion No : 20
Q.20 What can be an appropriate title for the passage?

Ans x 1. Divisive Secularism
x 2. Is secularism a reality?
x 3. Fake Secularism

« 4. A fool’s secularism

Question ID : 54592778253

Section : General Hindi

Q1 Iee-g F T 3rf-dg &1 T FI-
Ans x1_a-qrﬁq_ﬁ'{g

75 2. urft - Rig

o 3. Rig- it e

25 4 TR- U BT R
Question ID : 54592778261
Q.2 frar GrIaT gt BT BT Bl 2l
Ans  of 1 fadu
5 2. o
/5 3.3

p

Question ID : 54592778257

Q3 I qd AT g BT 9T BT
Ans 1 f=R™

25 2. TS
o 3. @
54 Ry

Question ID : 54592778263

Q4 fau Y aT & 1T U 2rsg FT TG PiforC-
T §H @ fpar
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5 4. TR

Question ID : 54592778262

Ans

Q.5 g areg A favm Rl &1 a8t vah =) fear T @2

£ 1. g 73 S fos & o g §

W 2. TEER AR @ e S A B A
< 3. 31U AT 152

25 4. 319 TR PIABI P AR 82

Question ID : 54592778270

Ans

Q.6 fAmEfrfad # & TR 2es &1 999 Fifoe-

25T
o 2. T
< 3 gR
S 4TR

Question ID : 54592778266

Ans

Q7 PR Fe 98 W Pl B BT 34 B-

o 1. 1 BT WieToA &R J9d AT B |

5 2. $UE B IaH axg e

X 3.9 R P a6

5 4. SIS ot Bl ST B AHA FRDB THIH ISHT

Question ID : 54592778269

Q.8

Ans

HYAY’ BT UGG W 8-

W 1. TR
25 2. sifha
< 3. Pa
X 4.37F

Question ID : 54592778259

Ans

Q.9 JYATAT BT faeH 2= -

25 1. e
25 2. anyfE
75 3. smfpa
W 4 T

Question ID : 54592778260

Ans
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Question ID : 54592778264

Q.1 3¢ ) vt & i freft wanf(@re-frg) ot sufRufa o, @t gt v faee &1 v fean
ST Afge?

Ans J1q‘|ry|$1%|?5'
5 2. faseo
X 3. goffaRm fore
X 4 fowafesivs fas

Question ID : 54592778268

Q.12 HTaRT aRT <RI g7 &7 314 8-
Ans X' 1 GG

o 2. emfaa g

/< 3. 9gd doal g

25 4. dfaren gr

Question ID : 54592778267

Q.13 fr=fied & | .91 e g 87
Ans x 1. 98

25 2.9

W 3.5y

P AL

Question ID : 54592778256

Q14 P A PI-A1 T 82
Ans x 1. TGEY I

25 2. fep e

/X 3.5 9™

W 4 FHRT T

Question ID : 54592778258

Q.15 9T YbR BT 99 BIL-
et | T T8 W’
Ans  of 1 vgar
5 2. Fgar=
X 3 vgw A
5 4 wHar

Question ID : 54592778265

Comprehension:

3T 7T iR BT SAYd® e B YR BT IR A

e gfg TR STg T YT SHR & 989 BT fa9g T ¥ | gaT BrHbrol avf & Fgiart frst o 3w
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Ans
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SubQuestion No : 16
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51,25 9d, 2015
25 2. 159a, 2017
o 3. 159, 2015

5 4.15 3T, 2015

Question ID : 54592778274

Q.17
Ans

Comprehension:

feq TTQ TR BT YD ST P U= BT SR o |

e gf TR STg T YT SHI &) 969 BT fa9g g1 ¥ | gaT BrHbrol avf & Fgiant fst ot 3w
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SubQuestion No : 17
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Question ID : 54592778276

https://cdn.digialm.com//per/g01/pub/1258/touchstone/AssessmentQPHTMLMode1//1258019392/1258019392S514D990/15730204207932039...

Comprehension:

24/45



11/11/2019

Q.18
Ans
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BT ILY 2022 b 40 B AN B! A DIl b1 URI0 TeM B 71 3940 § dieqdhdtars
mé%%mWﬁ%%lwmﬁmﬁme(mwﬁ)ﬁmm

|

SubQuestion No : 18
frafafea & @ {59 uga &1 Iguted 15 JaTs 2015 &1 gur=Est 3 78 fFar 412
251 e fasr siftrar

5 2. DRI B ArGHT
< 3. v e e e (fodsdiard)
o 4. STgSTH HRA e

Question ID : 54592778275

Ans
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Comprehension:

feT TTU TR BT YA SETTH HR YAl BT SR S|

e gfg TR TG T YT BHRM € 89 BT fI9g T ¥ | a1 HrHbTol avf | Fgiant fat o 3w
aﬂmﬁaq@%ﬁmwuqudéﬁ?ﬁ%wgw BT 3 ¢ & anft uRd @t saret
1,342,763,001 81 YR g1 &7 Tad T%ww,mﬁmwngaﬁéﬁlwm
Wm‘wﬂi&wwm’agogﬂ%ﬁwaiﬁ%%waeﬁmﬁ%,aawmm@a
R B AT | 31fF § 1 T SIHd AT YHRIHD SiHIfdpeh! ATHIR T e sierelf @1
URIE0T THR Aa AT H TGl off Yavdl g
34t fqaR o a1 muEE R 76 A 2014 | 24 IR garsdl I URIAT H=A & 780 & 1Y
ST Y DI AT HATT' BT T3 fohar 3R IY 1,500 HRIS IUY B Yoit & 718 | Ugelt IR
et TRBR 7 BN AT HATT BT 7134 1| 15 Jarg, 2015 HY A it A Ugel fay gar
DT feaw W f&pa e sriw oy faman| 351 e, “3m arel auf & YRd g &
RIS ATCT TaY §ST S/ BN 1 T (7R 3R URId Ut g3 814 Srisd &1 Ui g
T U8 DI & IR Ao & ARIGAH0T B! WE ¥ H ST 5 | HRIHH BT LY a1 DIRI
R, P HRE STl § fob YR 1 11t Y X I A GOl S| s Bl

TR TR 11 firedt ; forem, SR, sifeeferan, smifvet, wrer, RigR, Tidr @
KM W%wuﬁmﬁm%ﬁmﬁﬁa%ﬁmﬁmmﬁ@wm&ﬂﬁmﬂ?%l
FRIHH 3R TH & T1C I & WBR 3 TG &1 fa=0 33 & $3 yar fHu §1 15 Jars 2015 B
TYTHA A TR 7S gl P IguIe T, AT HINe b iy, AP iR Ay g
I AT 2015, TUMHA SR e (e diar) 3R IR BT TS 39 Ugal
BT ILY 2022 Tb 40 B AN B! AT DIt o1 IR0 Te™ B 71 390 § dieqdhdtars
mé%%mWﬁ%%lwmﬁmﬁme(mwﬁ)aﬁmm

|

SubQuestion No : 19

Q.19 IR TR F AR 15 JATS 2015 FHt YT 7 fpasit 73 ugal &1 Igure- fHar
U1?

da
X 2316
o 3. TR
p R

Question ID : 54592778273
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Comprehension:

3T T IR BT ATFYED ST PR YAl BT IR Gl |

e 3fg TR STg &1 UuTd BHRM &Y 6 BT favg @1 8 | a1 HrodsTol atf & Fgiant fsht ot 3w
1 3nfifes gfs & forg wracHe g 5| TG AP &1 1AM & [ ot HRd &t smamet
1,342,763,001 81 YR g1 &1 TaY JaT S T%W,me&rrgzgaﬁaﬁlsﬁm
YRA BT i AU HHd ¢, e o § {5 3u% Uy off 91 fad 8, 98 39 W 3nfd
SRS B AT | 31fF §1 3T SIHd U1 YHRIHD ST ATHIR T e i=rell &1
URTef0r SR AHa Ta1e § IGa off ¥l g
St fqaR & A1 TuEE R A1 A 2014 H 24 T1G gaTsil &I YR H= & 789 & 1Y
T Y PII AT HAAT’ BT T3 fohar 3R I 1,500 RIS YT B Yoil & 718 | Ugelt IR
et TRPBR 7 BT AT HATTT B1 T34 [HaT| 15 J1g, 2015 HY A it A Uget fay gar
DT feaw W f&pa e wriwd oy faman| 351 e, “3m arel auf & YRd g &1
IR < ATCT TaY §ST S/ SN 17 I (FUR) 3R URId Ut g3 814 Srishd &1 Ui g
21 U8 IR & IR SAf F TRITFIHR0l 61 WY = Y SRl 8| HRIHH HT 6T a1 HIa
YR, I WRE SelTel § fob YR bl 11t Y R A Ol S| B Bl

TR TR I et ; fem, s, sifeefern, smifvet, warer, RimgR, @idh T
&R 3R T B Y B A I T FAR FeH U (THoNg) TR eRlER [T Y &1
FRIGHT RY TH & 915 U 8 WHR = Tl 1 f3x S & &3y fvu 1 15 JaTs 2015 HI
TYHA 3 IR 7% Ugdl BT 3guTe b, I BN fasre S, g1 HIvd fasry wd
I TS 2015, TUMHA PR e (dTeapdians) 3iR SId BT Ao 37 Tga
BT IERT 2022 TP 40 FRIG AT ! A DIRTE! BT YIS UGH AT ¢ | 378 § Gugdsdiars
m%%mmﬁ%%lmmﬁmmmwmwﬁ)ﬁmm

|

SubQuestion No : 20

Q.20 IRV TR & TR TUTTHA 75 /G A 2014 W 24 ARG Farei &1 URIfE #31 &
qed & AT 6 WaATera o1 TS faran ur?

Ans X' 1 yuRIfad HATE
o 2. DI o wEre
X 3. Sefhar dare
25 4. TfademRo AT

Question ID : 54592778272

Section : Discipline1

Q.1 In the circuit shown below the voltage across 100 Q resistance is:

Ans X" 150V

5 2,100V
5 3.60V
of 4120V

Question ID : 54592778286

Q.2 Currentin A in an inductor is given by 10 + 10 t where t is the time in seconds. If the
self- induced emf in the coil is 20 mV, then its self- inductance is:

Ans " 1 10 mH

25 2.1 mH
W 3.2mH
25 4.20mH

Question ID : 54592778292
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Q.3 Equivalent resistance of the circuit shown below between X and Y:

. 50 40
t3 8&30 50
Yo Ay
Ans (160
o290
53180
K 4120

Question ID : 54592778283

Q.4 Equivalent resistance seen between the terminals a and b for the circuit shown below
is:

Q

50 a[f" 30V,
b'l_ T

Ans & 1200
240
/53250
K450

Question ID : 54592778288

Q.5 Reciprocal of reluctance is:
Ans X 1 Hysteresis

x 2. Permeability
x 3. Susceptibility
“ 4. Permeance

Question ID : 54592778289

Q.6 An average voltage of 40 V is induced in a 1000 turn coil due to a change in flux which
occurs in 0.5 seconds. The total flux change in webers is:

Ans o 1002

5 2.005
/5 3.001
75 4.0.04

Question ID : 54592778290

Q.7 Two filament lamps rated 200 W/200 V and 50 W/200 V are connected in series across a
200 V, 50 Hz, ac supply. Then, the total power supplied by the source is:

Ans X" 1 160 W

/5 2.80W
320w
o 240w

g
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l Question ID : 54592778279 J

Q.8 A battery having an open circuit voltage of 2 V has a terminal voltage of 1 V when
supplying a current of 5 A. Its internal resistance is:

Ans X" 1060
52040
W 3020
X 4010

Question ID : 54592778277

Q.9 An iron cored choke coil has an equivalent resistance of 4 Q. It draws 10A from a
single phase ac source of voltage 200 V, 50 Hz. Then, power consumed by the coil and
its power factor respectively are:

Ans 5" 1.200 W, 0.2 lag
o 2.400W, 0.2 lag
25 3.200 W, 0.2 lead

75 4.400 W, 0.2 lead

Question ID : 54592778295

Q.10 Mutual inductance between two closely coupled coils is 2 H. Now, if the number of
turns in one coil is reduced by 50 percent and those of the other coil is doubled then,
new value of mutual inductance is:

Ans  of 1 201
/5 2.8H
K 31H
/S 4.4H

Question ID : 54592778291

Q.11 In the circuit below, the value of resistance R is:

10Q

100v. O©A
10Q RQ

Ans  of 1200

/52300
53100
X 4400

Question ID : 54592778282

Q.12 A conductor 0.2 m long is carrying a current of 20 A at right angles to a magnetic field
of 0.5 Tesla. What will be force on the conductor of the current is increased by 50
percent?

Ans XHN
524N
536N
o 23N

[ ]
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l Question ID : 54592778293

J

Q.13 When applied with a unidirectional voltage, an inductor behaves virtually like a:

Ans x 1. Depends on the magnitude of voltage applied
J 2. Short circuit
x 3. Depends on the polarity of voltage applied

x 4. open circuit

Question ID : 54592778294

Q.14 A non- ideal current source of 25 mA is supplying a resistive load of 5 kQ. If the actual
current flowing through the load is 20 mA, then the internal resistance of the source
is:

Ans X1 1kQ

25 2.10kQ
5 3.5kQ

W 4.20kQ

Question ID : 54592778285

Q.15 Three resistances are connected in parallel. Total circuit current is 6A. Individual
conductance of each parallel circuit are Gl= 1S, G2=3S and G3=2S. Then, current
through Glis:

Ans X" 1 4 A
S2.1A
K 3.6A
o 4 2A

Question ID : 54592778284

Q.16 In the circuit shown below, the current drawn by the 6 Q resistor is 2A. then the value
of resistance R is:

20 8Q
A
4A RO~ (Mey
Ans  of 190
K 2180
/5330
5460

Question ID : 54592778280

Q.17 Find V, -V}, in the following part of a closed circuit where V, and Vy, are the potentials
ataand b.

. LB EIVHFE b
Ans  of 1 10V

K215V
K35V
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K420V

Question ID : 54592778287

Q.18 Certain number of resistors having equal resistances offers an equivalent resistance
of 1 Q when connected in parallel and 100 Q if they are connected in series. Then, the
number of resistors and the resistance of each are

Ans X' 1.20,10Q

/525200
753.20,50
W 410,100

Question ID : 54592778278

Q.19 RMS value of a half wave rectified symmetrical square wave current of 2 A is:

Ans X" 1 2A
S 2.1A

K3 2v2
v N2

Question ID : 54592778296

Q.20 In the circuit below, the voltage across 9 Q resistor is:

125V1 15Q 90

O

10Q

Ans X" 1 54V
X 250V
K375V
of 245V

Question ID : 54592778281

Section : Discipline2

Q.1 In a synchronous generator supplying power at rated voltage with zero power factor
lagging, the effect of armature reaction ampere turns is:

Ans ( 1. Demagnetising
x 2. Cross magnetising

x 3. Magnetising

x 4. Magnetizing and cross magnetising

Question ID : 54592778314

Q.2 Field system of an alternator is usually excited from:
Ans x 1. Single phase ac voltage

x 2. Square wave voltage

x 3. Three phase ac voltage
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J 4. Dc voltage

Question ID : 54592778311

Q.3 Scott connected transformers can convert (a) three phase to two phase (b) two phase
to three phase (c) two phase to four phase (d) three phase to four phase. From the
above options correct answer is:

Ans X" 1 aandc

xz.bandc
/5 3.bandd
J4.aandb

Question ID : 54592778306

Q.4 Torque developed by a motor while running at 1000 rpm is 106 N-m and the shaft
torque available is 100 N-m. then the iron and mechanical losses in watts are:

Ans & 1300
X 2.50m
W 32007
S 4.100m

Question ID : 54592778307

Q.5 In alow power factor wattmeter compensating coil is connected:

Ans x 1. In series with the current coil
( 2. In series with the pressure coil
x 3. In parallel with the pressure coll

X 4. In parallel with the current coil

Question ID : 54592778300

Q.6 Loss of charge method is used for the measurement of:

Ans X" 1 High inductance
X 2. Low resistance
X 3. Low inductance

J 4. High resistance

Question ID : 54592778301

Q.7 During plugging of a three-phase induction motor:
Ans x 1. Rotor circuit is opened

J 2. Phase sequence of the stator voltage is reversed
x 3. One phase of stator is short circuited

X 4. Dc source is connected to stator

Question ID : 54592778310

Q.8 A transformer is supplying a unity power factor load. Power factor on primary side will
be:

Ans  off 1. About 0.95 lag

x 2. unity

#% 3. About 0.95 lead
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x 4. zero

Question ID : 54592778305

Q.9 A dc shunt generator has a critical field resistance of 400 Q at 1200 rpm. Now if the
speed of the generator is increased to 1800 rpm what is the change in the critical
resistance?

Ans X" 1 Increases to 900 Q
x 2. Remains the same
J 3. Increases to 600 Q

x 4. Decreases to 267 Q

Question ID : 54592778309

Q.10 A three phase star connected alternator develops an rms voltage of V4 per phase at

the fundamental frequency. It also generates a third harmonic component whose rms
value is V3. What is the line voltage of the alternator?

Ans
vl /3(1:12 +V3)

&3 ___M
V3

x 4 ’2(1»'12 +V2)

Question ID : 54592778313

Q.11 In hydro-electric plants the type of alternator used is:
Ans & 1 Turbo generator

x 2. Non salient pole

( 3. Salient pole

x 4. Steam turbine generator

Question ID : 54592778312

Q.12 A current transformer has a phase error of +5 degree. The phase angle between the
primary and secondary current is:

Ans X 1.5 degree
x 2. 95 degree
J 3. 175 degree
x 4. 85 degree

Question ID : 54592778302

Q.13 Ferranti effect on long overhead lines is experienced when:

Ans X" 1. Power factor is unity
o 2. Line is lightly loaded
x 3. Line is heavily loaded

#5 4. Line is fully loaded

[ |
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l Question ID : 54592778316 J

Q.14 A 400 V three phase 50 Hz balanced source is supplying power to a balanced three
phase load. Line current flowing through the load is 5A at a power factor angle of 30
degrees lagging. Reading of two wattmeters used to measure the load power are:

Ans  of 1.1000 W, 2000 W
75 2.2000 W, 4000 W
7< 3.2000 W, 3000 W
75 4.1000 W, 3000 W

Question ID : 54592778304

Q.15 An industrial consumer has a load pattern of 2000 kW at 0.8 lagging for 12 hours and
1000 kW at unity power factor for 12 hours. Its load factor is

Ans & 106
5208
5305
of 2075

Question ID : 54592778315

Q.16 Current flowing in a circuit is i = (18 + 10sinwt + 7sin2wt). A moving iron ammeter is
connected in the circuit to measure this current. The reading of the meter will be
approximately:

Ans X 1 28 A

X 2.35A
5 3.18A
o 2204

Question ID : 54592778303

Q.17 Moving coil permanent magnet instrument can be used for the measurement of:
Ans X" 1 ACand DC

of 2. DC only
X 3. AC only
75 4. Half wave rectified DC

Question ID : 54592778299

Q.18 Form factor of sinusoidal ac signal is:

Ans  of 1 111
252,011
253,211
754,311

Question ID : 54592778298

Q.19 WVoltage applied to a load is 100v2s5in500¢. Current through the load is 10v2Zsin (500t + /3). The power
consumed by the load is:

Ans  of 1500w

5 2.200W

5 3.1000 W
75 4.2000 W
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l Question ID : 54592778297 J

Q.20 A three-phase induction motor is running at 5 percent slip with certain load. If at this

load the power input to the rotor is 2000 W, then the mechanical power developed by
the motor is:

Ans X" 12000 W
5 2.2100W
5 3.1700 W

o 4 1900w

Question ID : 54592778308

Section : Discipline3

Q.1 In a particular circuit, a coil having a self- inductance of 2 H is required to carry a
current of 4 A. A capacitor rated for 400 V is used across the coil in order to prevent
sparking during breaking of the circuit. The value of capacitor needed is:

Ans X" 1120 yF
£ 2.100 pF
75 3.400 pF
o 4. 200 uF

Question ID : 54592778334

Q.2 Unit of reluctance is:
Ans x 1. Henry

X 2. weber

X 3. Weber/m?
J 4. (Henry)'1

Question ID : 54592778336

Q.3 In atransmission system if V is the transmission voltage, weight of copper needed is
proportional to

Ans (" 1y
of 2. 112
P A%
F R

Question ID : 54592778322

Q.4 Cost of power generation will be low if:

Ans x 1. Load factor is low and diversity factor is high

X 2. Load factor is high and diversity factors is low
X 3. Load factor and diversity factor are low

J 4. Load factor and diversity factor are high

Question ID : 54592778333

Q.5 Energy produced in a power station is 1440 MWh per day. What is the maximum
demand of the station if its load factor is 0.5?

Ans  of 1 120 MW

5 2,280 MW
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75 3.60 MW
25 4,140 MW

Question ID : 54592778332

Q.6 Sag of the conductors of a transmission line is 2m when the span is 200m. Now if the
height of the supporting tower is increased by 25 percent sag will .

Ans x 1. Increase by 25 percent
X 2. Reduce by 25 percent
X 3. Reduce by 12.5 percent

J 4. Remains unchanged

Question ID : 54592778320

Q.7 In dielectric heating current flows through

Ans x 1. lonic discharge between dielectric medium and metallic conductor.
X 2. Metallic conductor
X 3. air
J 4. dielectric

Question ID : 54592778324

Q.8 A motor has to be selected for following load cycle. Load uniformly rising from zero to
100 hp in 10 minutes after which it is constant at 100 hp for the next 10 minutes,
followed by no load period of 30 minutes. Suitable size of continuous rated motor is:

Ans 3" 1100 hp
£ 2.250p
W 3.50hp
£5 4.200 hp

Question ID : 54592778325

Q.9 Gain of a buffer amplifier is:

Ans x 1. Dependent on the circuit parameters

J 2. unity
5 3. infinity
X 4. zero

Question ID : 54592778328

Q.10 The most economical method of electric braking is:

Ans x 1. dynamic braking with separate excitation
X 2. dynamic braking with self -excitation
X 3. Plugging
J 4. Regenerative braking

Question ID : 54592778327

Q.11 Voltage of a bus can be controlled by controlling the

Ans x 1. Apparent power of the bus
X 2. Active power of the bus

J 3. Reactive power of the bus
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X 4. Apparent power and phase angle

Question ID : 54592778331

Q.12 The transistor configuration that is most commonly used as a switching device is:
Ans & 1 Common base

( 2. Common emitter
X 3. Common collector

x 4. Common emitter shorted

Question ID : 54592778329

Q.13 A three phase 4 wire system is commonly used for

Ans x 1. Primary distribution
x 2. Primary transmission
J 3. Secondary distribution

X 4. Secondary transmission

Question ID : 54592778321

Q.14 An elevator drive is required to operate

Ans " 1 Three quadrants
X 2. Two quadrants
J 3. All four quadrants

x 4. One quadrant only

Question ID : 54592778326

Q.15 Bundled conductors are mainly used in HV transmission line to
Ans x 1. Reduce sag

x 2. Increase the mechanical strength of line
x 3. Reduce transmission line loss

( 4. Reduce corona

Question ID : 54592778317

Q.16 A lamp takes 5 A at 250 V and emits 8000 lumens. Its MSCP is:
Ans & 12000

5 2.1400m
W 3.2000/m
541250

Question ID : 54592778323

Q.17 Surge impedance loading of a lossless 400 kV three phase 50 Hz overhead line of
average surge impedance of 400 Q is:

Ans 3" 1200 MW
W 2. 400 MW
£5 3.1600 MW
25 4,100 MW

Question ID : 54592778319
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Q.18 If L, is the total inductance when two mutually coupled coils are connected in series
such that mutual inductance is aiding the self- inductance and L, is the total

inductance when connected in series opposition, then mutual inductance between
them is given by:

Ans 1. (L —L,)/2
X2 (L+Ly)2
X3 (L +L)/4
4 (L -L)i4

Question ID : 54592778335

Q.19 In the circuit shown below 18 V zener diode has zero zener resistance and a knee
current of 2 mA. The minimum value of R so that voltage across it does not fall below
18 Vis:

100Q

2ovT' 18V

Ans  of 11000 0

/52,5000

£5 3.9000 Q
54,2000 Q

Question ID : 54592778330

Q.20 Bulk power transmission over long HVDC lines is preferred because of:
Ans X" 1. No harmonics

x 2. Low cost HVDC terminals
x 3. Simple protection

J 4. Minimum line power loss

Question ID : 54592778318

Section : Discipline4

Q.1 What is the energy stored in 1 second in an inductor while carrying a current i = 20 +
10 t where t is the time in seconds if the electro motive force induced in the coil due to
self-induction is 40 mV?

Ans  of 1 18)
5 2.0.45)
253,09
412

Question ID : 54592778339

Q.2 Power dissipated in the circuit given is 9 W. Value of E will be:
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20 2Q
E( 1FT 1H
Ans x 1.2V
2.4y
W 3.6V
K 4.8V

Question ID : 54592778342

Q.3 A three- phase delta connected symmetrical load consumes 3000 W of power from a
balanced supply. If the same load is connected in star to the same supply then power
consumption will be:

Ans X 1.3000/V3
< 2 3000/V2

< 3.3000W
o 4. 1000w

Question ID : 54592778349

Q.4 A RLC series circuit has a resistance of 1 kQ. Its half power frequencies are 10 and 90
kHz. Quality factor of the circuit is:

Ans & 143469

o 2. 43532
75 3.43593
/5 4.43467

Question ID : 54592778348

Q.5 Acwmentofi = —6 + 8vZsin(w t + 30) is passed through a center zero PMMC meter and a moving iron meter. The
two meters will read:

Ans X" 1. 6A 10A
K 2.6A8A
W3 6A10A
X 4.6A8A

Question ID : 54592778354

Q.6 The circuit shown is used to measure the power consumed by the load. Resistance of
the current and potential coils of the wattmeter are 0.02 Q and 1000 Q respectively.
With this circuit measured power compared to load power will be:

Ans X" 1.2 percent less
x 2. 4 percent more
x 3. 4 percent less

J 4. 2 percent more

Question ID : 54592778356

Q.7 When a unit impulse voltage is applied to an inductor of 4 H, energy supplied by the
source is:

Ans X1.8J
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v 22!
K 3.4
F RN

Question ID : 54592778346

Q.8 In the circuit shown the switch is opened at t = 0 after having been closed for a long
time. Current through the resistor for t > 0 is given by:

150  25Q

0.5H

200)

+
100V

Ans x 1. 4e—SDt
X 2 57500
(3_ 46—121:!!5
X4. 3e—120t

Question ID : 54592778347

Q.9 If all the sequence voltages at the fault point in a power system are equal, then the
faultis a

Ans X" 1. Line to ground fault
x 2. Three phase fault
( 3. Double line to ground fault

x 4. Line to line fault

Question ID : 54592778353

Q.10 Relative permeability is less than 1.0 in case of:

Ans ( 1. Dia-magnet material
x 2. Non-ferrous material

x 3. Ferro-magnet material

x 4. ferrites

Question ID : 54592778338

Q.11 What will the zero-sequence current when line to ground fault occurs and the current
in faulted phase is 300 A?

Ans  of 1100 A

75 2.300A
75 3.50A
5 4150 A

Question ID : 54592778351

Q.12 Two coils having self- inductance of 10 mH and 15 mH give an effective inductance of
20 mH when connected in series opposition. What will be the effective inductance if
they are connected in series aiding?

Ans X" 1. 80 mH

W 2.30 mH
< 3.60 mH
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25 4.40 mH

Question ID : 54592778341

Q.13 For a fully transposed transmission line

Ans x 1. Negative and zero sequence impedances are equal.

x 2. Positive and zero sequence impedances are equal
x 3. Positive, negative and zero sequence impedances are equal.

J 4. Positive and negative sequence impedances are equal.

Question ID : 54592778350

Q.14 A long wire carrying a certain current produces a magnetic field of 0.8 Tesla at a
distance 0.5 cm. Then magnetic field at a distance of 1 cm is:

Ans X" 1.0.16 Tesla
5 2.02 Tesla

x 3.0.8 Tesla

of 404 Tesla

Question ID : 54592778337

Q.15 For a fixed receiving end and sending end voltages in a transmission system, locus of
constant power is a

Ans x 1. Straight line

x 2. ellipse
J 3. circle

x 4. parabola

Question ID : 54592778352

Q.16 A 200 V single phase ac source is connected to a load with an impedance of
magnitude 10 Q and phase angle +60 degrees. A capacitor is connected across the
load and supplies 1000 Var. The real power supplied by the source is:

Ans  of 1 2000 W
5 2.4000 W
5 3.1000 W
25 4.3000W

Question ID : 54592778345

Q.17 A two terminal network is connected to a resistive load whose resistance is equal to
Norton resistance of the network. What will be the load current if Norton current is I,,?

Ans X" 1.2|/3
W 21,2
X 321,
p AR

Question ID : 54592778343

Q.18 Energy stored in an iron cored coil is 500 Joules when carrying a certain current and
at that current its copper loss is 1000 W. Time constant of the coil in seconds is:

Ans X1,4
K22
v R
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K405

Question ID : 54592778340

Q.19 In the circuit shown below power delivered by the source is:

90 90 | 9Q

Ans X" 1 12W
K 2.8wW
o 33w
S aow

Question ID : 54592778344

Q.20 A shunt resistance of 50 Q is required for extending the range of an ammeter from 100
to 500pA. the value of internal resistance of the ammeter is:

Ans X" 1400 Q

o 22000
/53,8000
25 41000

Question ID : 54592778355

Section : Discipline5

Q.1 A 720 kVA, 2403 V, star connected synchronous machine generates rated open circuit
voltage at a field current of 20 A. A field current of 10 A produces rated armature
current under short circuit condition. Per unit saturated synchronous reactance is:

Ans 1.2
W 205
/5 3.04
K415

Question ID : 54592778366

Q.2 A heater operated from a 250 V, 50 Hz single phase supply consumes 2.5 kWh in one
hour. If it is now connected to a square wave generator of 400V peak to peak voltage
and frequency 150 Hz the power dissipated by the heater will be:

Ans  of 1 16KW

/5 2.2.8kW
25 3.32kwW
75 4.6.4kW

Question ID : 54592778357

Q.3 The locked rotor current in a three-phase star connected 15 kW, 4 pole, 250 V, 50 Hz
induction motor at rated conditions is 50 A. Neglecting losses what will be the locked
current when motor is connected to 240 V, 60 Hz supply is:

Ans 5" 1 48 A

K 2.52A
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W 3.40A
5 4.50A

Question ID : 54592778361

Q.4 For a transmission line with resistance R and reactance X and negligible capacitance
generalized constant A is:

Ans (1_1
S 2.R-jX
53 R+X
K40

Question ID : 54592778370

Q.5 A dc potentiometer is designed to measure up-to about 2 V with a slide wire of 1600m.
Standard cell of emf 1.2 V balances at 1200mm. a test cell is seen to balance at
1400mm. the emf of the test cell is

Ans "1 11V
K212V
X 317V
414y

Question ID : 54592778358

Q.6 An amplifier circuit has a voltage gain of 500. If the output voltage is 5 V, then the input
voltage is:

Ans " 1.1/2500 V

52,2500V

< 3.100 mv
W 4 10mv

Question ID : 54592778374

Q.7 In a three-phase induction motor regenerative braking occurs when:

Ans J 1. Load is lowered by a hoisting machine
x 2. Motor speed falls due to overload.
x 3. Load is raised by a hoisting machine

x 4. Number of poles is reduced in a pole changing machine

Question ID : 54592778362

Q.8 A three-phase slip ring induction motor develops full load torque at a slip of 0.04 when
the slip rings are short circuited. If the rotor resistance is increased 3 times by
inserting external resistance in the rotor circuit, then the slip will be:

Ans & 1.0.04

5 2,001
o 3012
75 4,006

Question ID : 54592778360

Q.9 For heating non conducting materials following heating method can be used:
Ans 3 1. Induction heating

of 2. Dielectric heating
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x 3. Resistance heating

x 4. Electric arc heating

Question ID : 54592778365

Q.10 In a center tap full wave rectifier, if the peak voltage applied between the center tap
and one of the secondary 200 V, then the reverse biased diode is applied with a
maximum voltage of:

Ans " 1200V

25 2.100 v
< 3.200V2 v

of 2 400V

Question ID : 54592778375

Q.11 The dc base bias voltage of a npn transistor made of silicon is 10V and input base
resistor is 100 kQ. then the value of base current into the transistor

Ans ("1 93 A
5 2,093 pA
75 3.930 pA
W 4.931A

Question ID : 54592778373

Q.12 A 10 kVA, 400/200 V single phase transformer with resistance 4 percent and reactance
6 percent supplies a current of 50 A a resistive load. Voltage across the load is:

Ans X" 1 190V
/< 2.188V
W 3192V
£ 4194V

Question ID : 54592778363

Q.13 A 150 kW, 1200 rpm, 24043 V, three phase delta connected synchronous motor has
synchronous reactance of 1 Q per phase. if the excitation voltage is fixed at 400 V per
phase, power output at a torque angle of 30 degrees is:

Ans X1 75 KW

25 2.25kw
5 3.87 kw
o 4.50 kw

Question ID : 54592778372

Q.14 Two insulator discs of identical capacitance value C makes up a string for 2.2 kV, 50 Hz
single phase overhead line insulating system. If the pin to earth capacitance is also C,
then string efficiency is:

Ans  of 1 75 percent
x 2. 50 percent
x 3. 80 percent
x 4. 90 percent

Question ID : 54592778369

Q.15 A power system has two synchronous generators whose governor turbine
characteristics are given by P1 = 50(50 - f) and P2 = 100(52 - f), where f is the system
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frequency. When the total load supplied is 1000 MW, what is the system frequency if
the operation is lossless.

Ans X 1. 58 Hz

of 2. 4466 Hz

/5 3.524Hz
75 4,48 Hz

Question ID : 54592778376

Q.16 A voltmeter connected across 15 kQ resistor reads 10 V in the circuit given. Voltmeter
is rated at 500 Q/volt and has a full- scale reading of 20 V. The supply voltage is:

30kQ)

+

V=" 15k

Ans  of 1 60V

K 2,45V
K 3.3V
490V

Question ID : 54592778359

Q.17 The inductance of a single phase two wire power transmission line per km gets
doubled when the .

Ans x 1. Distance between the wires is increased four- fold
« 2. Distance between the wires is increased as the square of the original distance.
x 3. Distance between the wires is doubled

x 4. Radius of the wire is doubled

Question ID : 54592778368

Q.18 A generating station has an installed capacity of 400 MW. Plan capacity factor is 0.6
and annual load factor is 0.8. capital cos is Rs 101% and annual running charges are

Rs10°. What is the cost per unit generated if the annual interest and depreciation is 20
percent?

Ans X" 142 paise
75 2.242 paise
£5 3.14.2 paise
W 4. 142 paise

Question ID : 54592778367

Q.19 In order to minimize the inrush current in a single-phase transformer, the supply
switch should be closed at the instant when:

Ans e .
7< 1. supply voltage is = times the maximum voltage

/< 2. supply voltage is v% times the maximum voltage

« 3. supply voltage is maximum

x 4. supply voltage is zero

Question ID : 54592778364
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Q.20 A light source having an intensity of 400 candle power is fitted with a reflector so that
it directs 70 percent of its light along a beam having a divergence angle of 5 degrees.
Total flux emitted along the beam is:

Ans " 11600/

o 211207
25 3.1600 T
25 41120/

Question ID : 54592778371






